Diethard Thieme
Skripte zur Baumechanik

Ubungen

mit

Losungen

BM 42




20kN ~ SKN 14.4 12 kN/m

PSS S S R ¢ W
l8 TZO 1BT l19,56 T

M e 2t 2 e ety

24

Mehrteilige Tragwerke



37,5 37,5

18,8 18,8
®

| =

375 l‘4—m’_37,5

Mehrteilige Tragwerke



[TTTTTTTITUI5kNIM 50 kN

Mehrteilige Tragwerke



Mehrteilige Tragwerke



50kN  10kN/m [JTITITTT]
- Q 0,

Mehrteilige Tragwerke



UTITTITITITTITTTT) 10kN/m

| =
md| 125

|

|

Mehrteilige Tragwerke



Punkt "c"
>M=07?
Die Momente mit dem
wahren Drehsinn antragen
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Sq=-54, Sp=-81

Mehrteilige Tragwerke





